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QUESTION 1

When you export an NFS share to an AWS EC2 instance using OnCommand Cloud Manager, which two steps in the
process would it automate? (Choose two.)

A. mapping the LUN to the appropriate igroup

B. creating the LUN In the volume

C. exporting the volume/share to the EC2 Instance
D. creating the volume

Correct Answer: C

QUESTION 2

You are setting up your first sync relationship In Cloud Sync. You must add a NetApp data broker. You are
using a CIFS server as your source location.

In this scenario, what are three supported target locations? (Choose three.)

A. Azure managed disks

B. Amazon EBS

C. StorageGRID

D. Blob container

E. S3 bucket

Correct Answer: ACE

QUESTION 3

Your OnCommand Cloud Manager Instance has database corruption. You create a new OnCommand Cloud Manager
instance with no data, and your ONTAP instances are still running with no issues. You want to bring the cloud and on-
premises ONTAP Instances into the new OnCommand Cloud Manager working environment.

In this scenario, which two actions will satisfy these requirements? (Choose two.)

A. Import ActivelQ entitlements.

B. Restore the 7z backup file.

C. Discover the ONTAP instances.

D. Promote a load sharing mirror.
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Correct Answer: CD

QUESTION 4

You are your company\\'s public cloud administrator and you must deploy Cloud Volumes ONTAP for your
unstructured data.You want to use S3 storage for your replicated data.You are going to use data tiering to
move this data to S3.

In this scenario, which tiering policy would you use?

A. none

B. snapshot only

C. backup

D. auto

Correct Answer: B

QUESTION 5

Your company has evaluated NetApp SaaS Backup for Microsoft Office 365 with a trial account. In the evaluation
period, you used Amazon S3 that was provided by SaaS Backup as the destination for your backup. After evaluation,
your company decided to use Bring Your Own Storage (BYOS) as a backup destination. You determine that none of
your previous data is showing up.

What caused this problem?

A. During the change from evaluation to licensed, the access token expired.

B. Changing the destination to BYOS did not migrate the data.

C. When upgrading from trial to licensed, data was not preserved.

D. Upgrading from evaluation to licensed reset your SaaS Backup account.

Correct Answer: D
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